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#include <stdio.h>
#include <stdlib.h>
#include <math.h>

double getuniform();

int main(){
int n=59049; // =3"10 sample size
int d=10; // dimension
int i,j;
double sum,sum2,integrand,y;
int seed;

sum=0.0;
sum2=0.0;
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scanf ("%d" ,&seed) ;
srand (seed) ;
for(i=0;i<n;i++){
integrand=0.0;
for (j=0;j<d;j++){
integrand+=getuniform();
}
sum+=integrand*integrand;
sum2+=integrand*integrand*integrand*integrand;
}
printf ("seed %d\n",seed);
printf ("samplesize%d\n" ,n);
printf ("averagey %f\n",sum/n);
printf ("error,%f\n",sqrt( (sum2/n-(sum/n)*(sum/n))/n ) );
return O;

}

double getuniform(){
return rand()/(1.0+RAND_MAX);
}
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#include <stdio.h>
#include <stdlib.h>
#include <math.h>

double getuniform();

int main(){

int n=59049; // =3"10 sample size

int d=10; // dimension
int i,j;

double integrand;

// double xmax=1.0;
double ymax=100.0;

int seed;

double p;

int count;

count=0.0;

scanf ("%d" ,&seed) ;
srand (seed) ;
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for(i=0;i<n;i++){
integrand=0.0;
for (j=0;j<d;j++){
integrand+=getuniform(); // #xmax;
}
if (integrand*integrand > getuniform()*ymax ){
count ++;

}

p=(double) count/n;

printf ("seed %d\n",seed);

printf ("sample,size%d\n",n);

printf ("average %f\n",p*ymax); // xxmax"10

printf ("error,%f\n",sqrt( p*(1.0-p)/n)*ymax); // *xmax"10
return O;

}

double getuniform(){
return rand()/(1.0+RAND_MAX);
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o I /RE: 155/6 = 25.83

o Riemann 1 (XM Tik) K& 3 25, 5 310 & 11.85.

o Riemann # (X L) &8 3 2E), 5 310 A: 45.19.

o TVF LT YTIVITHE Y TIYAX N =310 #EE
25.787085, FR7Z= 0.037871.

o WO ANZE Y7 ILY 414X N =310 #HFE(E 26.181646, 8%
0.180915.
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